
Notch Filters

The notch filter in Fig. 10 acts as a way to pass a wide range of frequencies, while attenuating
(rejecting) a narrow band of frequencies.
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Example:

To find the transfer function or attenuation of the unloaded RLC circuit, we set up the equations for VIN
and VOUT:
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The transfer function becomes:
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This is the transfer function for an unloaded output. Now we get more realistic and have a load
resistance attached to the output. However, in this case, the load resistance is so large that we can
assume it draws inconsequential current, so we don't need to place it into the equation.

The magnitude of the transfer function is:
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Plugging in all  component values and setting φ = 2πf, we get:
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